Consider the relation:

PERSON (Name, Sibling, Shoe_Size)

Assume Name (( Sibling and Name ( Shoe_Size.  Describe deletion, modification, and insertion anomalies for this relation.

	Name
	Sibling
	Shoe_Size

	Jones
	Fred
	E

	Jones
	Sally
	E

	Jones
	Frank
	E

	Greene
	Nikki
	B

	Chau
	Jonathan
	C

	Chau
	Eileen
	C


Deletion Anomaly:

If  we delete sibling information we also lose shoe_size information

If we delete information about shoe size, we also lose information about sibling relationship

Modification Anomaly:

If  shoe_size information is changed for someone who has multiple siblings, it must be changed in multiple places or there will be data integrity problems.

Insertion Anomaly:

If we want to insert information about a person’s shoe_size, we must also insert information about that  person’s sibling(s).   If we want to insert information about a person’s sibling, we must also insert information about the person’s shoe_size.

How would you put the PERSON relation into 4NF?

create two tables

Person (Name, Shoe_Size)  
    because      Name uniquely determines Shoe_Size

Person (Name,Sibling)

    Name does not uniquely determine Sibling so the key must be composite. 
